g

B, Amhnmd'Sﬂ.DdelHl}H NHy(og) is tirated with 0.20 M HCl(ag). ‘The value of the base-dissociation
constant, K,, for NH; in water is 1.8 < 107 at 25°C.

(a) Write the net-ionic equation for the reaction of NH,(ag) . with HCl(ag).

(b) Um;&uumdmmw*muﬁnﬁmmmumhwhﬂlwddﬂ.ﬂﬂ.d
ﬂ.ll:rﬁl' HCl(ag) is iﬂﬂmﬁ_ﬂtm.ﬂ'ﬂ#ﬂmﬂnlﬁﬂ.lﬂ” MNH,(ag).
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(c). From the tble below, select the most appropriate indicator for the titration. Justify your choice.

Indicator ' nk,
Methyl Red 55
Bromothymol Blue 7.1 “'

Phenclphthalein 8.7

(d) Tf equal volumes of 0.10 M NHy(ag) and 0.10 M NH,Cl(ag) are mixed, is the resulting solution acidic,
- nentral, or basic? Explain. -
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